Summary of Unit 5

December 16, 2016

HW: Note Card is due Tuesday, Dec. 20

Do Now: We will switch with partners to
"grade" homework; Below is the solution to
the checkin, I'm handing these back
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Since R(6) = 4.438 > 0, the number of mosquitoes is
increasing at ¢ = 6.

R(6) =-1.913
Since R’(6) < 0, the number of mosquitoes is
increasing at a decreasing rate at ¢ = 6.

Civst nd

1 : shows that R(6) > 0

"Deriv (o

2 1 : considers R'(6)
" | 1: answer with reason
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1000+ [ R(t)dt 2 deC PM“W z{iﬁ:vgvr:

To the nearest whole number, there are 964
mosquitoes. -m"\
vov

R(t)=0whent=0,t=25r,0rt="75x
R(t)>0on0<t <257

R(t)<O0on 257 <t<757

R(t)>0on 757 <t <31

The absolute maximum number of mosquitoes occurs
att =257 orat ¢ =31.

2.5%
1000 + Io R(t) dt =1039.357,
There are 964 mosquitoes at ¢ = 31, so the maximum
number of mosquitoes is 1039, to the nearest whole
number.

nd

2 : absolute maximum value
1 : integral
1: answer
4: < 2 :analysis
1 : computes interior
critical points
1 : completes analysis
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Summary of Unit 5

Solution to Last Night's HW

December 16, 2016

@ w(2)=

© o5l W

W(15) - W(9) _ 67.9-61.8
15-9 B 6
=1.017 (or 1.016)
The water temperature is increasing at a rate of approximately
1.017°F per minute at time ¢ = 12 minutes,

(b)]’ “(t) dt = W(20) - W(0) =71.0- 550 = 16

The water has warmed by 16 °F over the interval from ¢ = 0 to
t =

10(4~W(0) +5-W(4)+6-W(9) +5-W(15))
=L(4-55.0+5-57.1+6-61.8+ 5-67.9)

ﬁ -1215.8 = 60.79

This approximation is an underestimate, because a left Riemann
sum is used and the function W is strictly increasing.

25
@ W(25) =710+ j’w W'(t) dt

=71.0 +2.043155 = 73.043

WGs)- W)=
W (15) = W(o) +
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: estimate
: interpretation with units

: value
: interpretation with units

: left Riemann sum
: approximation
: underestimate with reason

: integral

L answer
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Summary of Unit 5 December 16, 2016

Using the calculator: What's allowed and
what's clever T
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Summary of Unit 5
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Summary of Unit 5 December 16, 2016
Look at the AP problems you've done. In
your groups, generate some entries for
this table. We'll put it together as a

class.
When you see the words . . . You should think
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